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QUESTION 1

You have a class named Glass that inherits from a base class hamed Window. The Window class includes a protected
method named break().

How should you call the Glass class implementation of the breakO method?
A. Glass.break()

B. Window.break()

C. Me.break()

D. MyBase.break()

Correct Answer: B

QUESTION 2

What does the Console.Error property do within a console-based application?
A. sets the standard error input stream

B. gets the standard error output stream

C. gets the standard error input stream

D. sets the standard error output stream

Correct Answer: D

QUESTION 3
This question requires that you evaluate the underlined text to determine if it is correct.
The benefit of using a transaction when updating multiple tables is that the update cannot fail.

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct.

A. No change is needed

B. succeeds or fails as a unit

C. finishes as quickly as possible

D. can be completed concurrently with other transactions

Correct Answer: B
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QUESTION 4

You need to allow a consumer of a class to modify a private data member.
What should you do?

A. Provide a public function that assigns a value to the data member.

B. Create global variables in the class.

C. Assign a value directly to the data member.

D. Provide a private function that assigns a value to the data member.

Correct Answer: A

In this example (see below), the Employee class contains two private data members, name and salary. As private
members, they cannot be accessed except by member methods. Public methods named GetName and Salary are

added to

allow controlled access to the private members. The name member is accessed by way of a public method, and the

salary member is accessed by way of a public read-only property.

Note: The private keyword is a member access modifier. Private access is the least permissive access level. Private

members are accessible only within the body of the class or the struct in which they are declared
Example:

class Employee2

{

private string name = "FirstName, LastName";

private double salary = 100.0;

public string GetName()

{

return name;

}

public double Salary

{

get { return salary; }

}
}

QUESTION 5
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You have a stack that contains integer values. The values are pushed onto the stack in the following order:
2,4,6,8.

The following sequence of operations is executed:

Pop Push 3 Pop Push 4 Push 6 Push 7 Pop Pop Pop

What is the value of the top element after these operations are executed?

A 2

B.3

C.6

D.7

Correct Answer: B
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